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— FIDIPONRT DY 502 XM 17
He was reading a scroll while sitting on a threshold

OVERVIEW

The M0°X of XN»MIXTM 7012 AR is only when one removes an object that
was entirely in one (2°2777) MW and transfers it to another (7°1°7) mwn. If
however the article was only partially in one mwA, for instance; if one end of
a pole was in a 1"177 and the other end was in the hand of a person in a >"77 —
[this is referred to as '17°2 172" — ‘it is bound in his hand’] - and he brought
in the entire pole into the *"77, he is 7707 12 MWD, but 1212777 MOX. We are
7M3 in the case of 17°2 17AX which is 7707 72 7MWY, because you may do it
when 17°2 172X PX 1.e. it is entirely in the other mwA, which is 77107 72 7OK.
If this case of 17°2 172X took place when the 9101 (X°¥11) was in a n°onn2,
then there are two reasons why it is not Xn*7I1X77 710K; 1) because he is in a
nvon1, and 2) because it is 17°2 173R. In order to forbid it, two n17°13 would
be required; a) the 7772 of 17°2 172X X JOX 17°2 172X and b) the 771 of
(2"7) "7 R N3, This is referred to as being M a 7712 7.

If we maintain, however, that (n°91722) 77°13% 737°1 03 PR, then if it was
172 17K and the (R°¥12) 0°10n was in a n°on13, then the person would be
7N, in the aforementioned case, to bring the pole from the 7"77 to the
nomI0. Our MdoIN reconciles the ruling of "1 9902 XMNP 77 (seemingly
indicating that this leniency applies only to a 7190) with the ruling of 773712 X
n°oM722 77T AT

mooin asks:
— DY NI 91993 91 NOT 11’?‘1’93 N29Y 99NN ON)
And if you will say; According to 829 who maintains later in this P95 that
by a n 927> the 29%21 were not 7113 a 779139 779735 X2 said this -
— (3,0 9719pY) YONNA VNN NN XY 2
Regarding the X°x10 of; ‘a tailor may not go out with his needle’ -
— 17192 Y7ANA 29V 9133 Y991 D9 199N 990 NIIN INN
Why does the 71w» mention 990, which would indicate that the reason we

! See the 2,87 97 19P2 X13 as to where X271 made this statement.
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are allowing him to roll up the scroll, is out of respect for the w72 °2an2,
where in truth even if it were not a 790 but any object, it would also be
permitted to retrieve it, in a case where it is partially in his hand

— 192919 NYN 90N ND 17192 1IN 1PN 1929NY
for even if it were entirely not in his hand, the 912’8 would be only a

73277, since the XDIPOX is a N°9n7d (as NMdOIN will shortly state), there can be no MO
XN*7I87, and since here it is 17°2 172X so even if he were in a "7 there would be no MoK
Xn»7X7 if he were to retrieve this object from the 7" back to the 2"‘.‘(1, so what would
be the reason to prohibit him from retrieving the object. It could only be because of a
77137 77013, that is we are 713 in this case of a °"177 X Nv9n73, and then we have to be M3
again 17°2 1TR PR IOX 17°2 1708, which makes it a 77127 77°13 and X271 maintains that by a
5112 we are not T a 7Y 7T -

— 591995 NAPONA NIN NIPIND TWAN IN)

And it is impossible to interpret this 71w» only in the case of an npIPON
N 9173, but not in any other manner -

— (oW Ny 1) PPNV NN 7993 AN PP0NTI

as 2R concludes in the last P95 of 192y NO0M. The question is; why mention
pblel

MD0IN answers:
— ION 152 TN PPN ON 990 199N JIYNIUNY 990 VPIT Y Y
And one may say; that the reason that he mentions '129', is not that we
should infer from this, that if it were not a 990 it would be M0X to retrieve it,
for this is not true (according to X27), as we said before 712 7772 1077 KY;
rather the reason that he mentions 90" is to let us know that even a 20’
which is wTp "an2, if it is not partially in his hand it is %R to roll it back up.
The 71w» mentions 190 specifically in order -

— DNN INT PYNAY 229 SPIANY

To negate the opinion of Pw=w 539 who said there in 1217y n3on in that mawn -
UIPN AN 2392 171Y 1N MAVY DIVN NINY 921 D5
Any prohibition which is on account of a maw, i.e. an 712771 MO°X cannot
stand in the face of w7 52N>, and according to this view, even if it fell out of his

* See ‘Overview’.
? Otherwise if it is not discussing an n*>73 no1pox (but "1 NMPOX), the various parts of the 7wn would be
contradictory and it would necessitate that they follow the views of different a°Xin.
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hand completely into the 7"717, it would be permissible to roll up the 790, since it is only a
maw to carry from a 1"77 to a n>9»75. Our mwn disagrees with w1 and maintains that
even a 190 from the W7 2N cannot be retrieved when there is a 712772 Maw.

SUMMARY

According to X271 who maintains that 77°137 79513 PIN3 PR 091753, this 127 of
121 RDIPORT ¥ X 0, will apply to all objects not only for a 790, because
since he is in a 17°2 172X N°9170, we cannot be M) an MO°X, since that would
be a 1712 771, On the other hand, even a W77 *2non 190, is permitted to
be retrieved, only when he is in a 17°2 172981 n°9172. If one of these conditions
is lacking however, it would be 70X to retrieve it.

THINKING IT OVER
1. If we would maintain 77°13% 77°1 129913 n°91052, what 0°3>7 would change
in our case of 121 X91POR:T Yy RP 77712

2. Why is X072 M09 172 170K?
3. According to »aX (who argues with X217 and maintains that we are M3

7713 77T by a n°Ynd), what is the rule by 19poR for things other than a
750 (of wTPT 2n2), may he retrieve them from the A7t

4 See X"oW.
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